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NEW QUESTION 1
A scrum master has defined an iteration plan and created several tasks for the plan. The assigned team members are updating the tasks' attributes of Status,
Estimate Correction and Time Remaining in the work item editors.
How do these updates affect the plan's Work Breakdown view?

A. The progress bars for each team member reflect the changes.
B. The view shows work items organized into columns based on status.
C. The tasks' ranks are updated automatically to reflect the updated attributes.
D. They don't; the tasks must be modified in the plan editor to affect the pla

Answer: A

NEW QUESTION 2
A manager would like to create a query to show closed work items for a team area in a project. Which query feature is used to select the team area at runtime?

A. Current Team
B. Attribute Groups
C. Condition Grouping
D. Parameter Variables 

Answer: C

NEW QUESTION 3
A developer is working on source code changes and would like to test them using an existing build definition. The developer, however, does not want the testing to
impact the overall build definition status or notify subscribers. How can this be accomplished?

A. Request a personal build.
B. Restart the build engine in test mode.
C. Set the build result's type to Private.
D. Define a pruning policy on the build definitio

Answer: A

NEW QUESTION 4
A developer has created a repository workspace on the server and wants to be able to access the files locally via installed tools such as editors and compilers.
What action must the developer take to accomplish this?

A. Take a baseline of the components.
B. Load the contents of the repository workspace.
C. Check out the files and save copies to the file system.
D. Modify the stream's flow target to match the repository workspac

Answer: A

NEW QUESTION 5
An administrator wants to make sure that time remaining on work items in a plan view are consistent with the estimate. Which plan check ensures this?

A. Invalid Estimate Check
B. Planning Problems Check
C. Traditional Planning Check
D. Cross-Project Planning Problems Check 

Answer: B

NEW QUESTION 6
A developer working in the RTC Eclipse client has checked in their changes and found that another developer's incoming change set has affected the same file.
The developer attempted to Auto Resolve the conflict, but was unsuccessful.
Which of the following would cause this to occur?

A. The incoming change set appended new lines to the file.
B. The developer's change set included changes to multiple files.
C. Both change sets contained changes to the same line in the file.
D. Work items related to the change sets affect the same componen

Answer: A

NEW QUESTION 7
What is the source of the data to create metric based reports?

A. RTC REST API
B. CCM Database
C. Data Warehouse
D. Data Collection Component Database 

Answer: 
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B

NEW QUESTION 8
An administrator has created a new type of work item with its own unique workflow. When the users begin to use this new work item type, the available states and
actions are not from the expected workflow.
How can the administrator correct this?

A. Compile the workflow source.
B. Deploy the new work item type.
C. Bind the workflow to the work item type.
D. Publish the workflow for the work item typ

Answer: C

NEW QUESTION 9
An administrator wants to create a new plan view that shows the parent-child relationships of work items. Which plan view display allows this?

A. flat
B. tree
C. kanban
D. taskboard 

Answer: A

NEW QUESTION 10
Management has requested that two RTC evaluation servers and two RTC departmental servers be deployed. Each RTC server will have a firewall blocking
access to jazz.net and requires different installation packages.
What is the correct installation option?

A. use the Web Installer
B. use Enterprise Platform Installer
C. use IBM Installation Manager Repositories
D. use plain .zip files for the JTS and CCM Application 

Answer: C

NEW QUESTION 10
A developer using the RTC Eclipse client is viewing the history of a component. The developer would like to understand which source files were included in one of
the change sets.
How could the developer accomplish this?

A. Review the Change Summary for the change set.
B. Locate change sets that affected the component.
C. View the change set's Open Related work items.
D. Export the history with the Include File Details optio

Answer: A

NEW QUESTION 12
A team is struggling to find the correct build result and wants to automatically reduce the amount of results retained.
How can this be accomplished?

A. Manually delete them.
B. Set up a pruning policy.
C. Delete the build engine and create a new one.
D. Delete the build definition and create a new one 

Answer: D

NEW QUESTION 15
Management is asking for report describing all RTC users, team areas, team members and corresponding process roles, as well as team area administrators for
an RTC project area.
How should the report be created?

A. Generate Runtime Report using the RTC Eclipse client.
B. Use the "repotools-jts" utility with the "exportUsers" option.
C. Export users from the Team Organization View in the RTC Eclipse client.
D. Export the users from the "Active Users" menu on the JTS Application Administration Web Pag

Answer: D

NEW QUESTION 17
A user wants to add widgets from external sources to a RTC Dashboard. Which type can be added?

A. Apache Widget
B. Open Social Gadget
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C. Google Open Gadget
D. External Content Widget 

Answer: A

NEW QUESTION 18
A scrum master needs to manage work items from multiple project areas and create a cross-project plan with a set of master work items. The scrum master wants
to see a roll up of the schedules of work items related to the master work items.
Which work item link type permits this?

A. Parent
B. Tracks
C. Resolves
D. Depends On 

Answer: D

NEW QUESTION 20
When an RTC user logs onto the JTS Application Administration Web Page to create a new RTC user, the 'Users' menu does not appear.
What is the reason for this?

A. The user is not registered as a member of the project area.
B. The user does not have JazzAdmins Repository Permission.
C. The user does not have the proper RTC Client Access License.
D. The user does not have JazzProjectAdmins Repository Permissio

Answer: A

NEW QUESTION 22
A development team is utilizing a project area built on the scrum template. The scrum master wants to understand how much estimated work remains in the
iteration and projection for completion.
What action would the scrum master take to assess this?

A. Examine the Ranked List of work items.
B. View the Burndown Chart in the plan Details.
C. Compare the plan's Initial to Planned snapshot.
D. Review the Effective Estimate and Time Spent in the Roadma

Answer: D

NEW QUESTION 25
A user wants to create a work item with pre-populated approvals. What feature allows this?

A. Process Template
B. Approval Template
C. Workflow Template
D. Work Item Template 

Answer: D

NEW QUESTION 30
A report author needs to produce a JRS report that only shows high priority work items. How can this be accomplished?

A. Set up traceability links.
B. Link the report to a query.
C. Limit the project scope of the report
D. Add an attribute condition to the report.

Answer: B

NEW QUESTION 34
An RTC administrator has installed JTS and CCM using a departmental server topology and completed the Jazz Team Server and Application Setup process.
How many Public URIs (context root) exist for this topology?

A. Zero
B. 1 for JTS
C. 1 for CCM
D. 1 for JTS and 1 for CCM 

Answer: C

NEW QUESTION 36
A user needs to import work items into a project area using the RTC Eclipse client. Which file content type can be used?

A. XML document
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B. Rich Text document
C. File Interchange format
D. Comma Separated Value 

Answer: C

NEW QUESTION 39
An organization is considering utilizing preconditions to enforce process behavior of work items. Which elements define the configuration? (Choose three.)

A. Role
B. Release
C. Timeline
D. Work Item
E. Editor Presentation
F. Operation Behavior 

Answer: ABC

NEW QUESTION 40
A project manager determines the current iteration is complete and decides that the next iteration should be started. How is this done?

A. Set the current iteration's status to complete.
B. Set the next iteration as the current iteration.
C. Specify that a release is scheduled with the next iteration
D. The start and end dates will automatically start the next iteration.

Answer: B

NEW QUESTION 43
The scrum master moves a story in the Quick Planner from the backlog to a sprint plan. Which attribute on the story was automatically updated by this action?

A. Release
B. Owned by
C. Planned for
D. Filed Against 

Answer: D

NEW QUESTION 45
A user checks in changes and creates a baseline. The user later has doubts and wants to remove the baseline. How can this be achieved?

A. Baselines created are permanent and cannot be deleted.
B. A configuration manager can delete baselines in the component history.
C. The user reverts the baseline which deletes it from the outgoing changes.
D. The user can get rid of the baselines by replacing the components with an earlier baselin

Answer: B

NEW QUESTION 49
A user wants to create an enumeration. There is a requirement to allow users with the appropriate permissions to add new literals from the Work Item editor.
Where does the enumeration need to be stored?

A. Database
B. Process Template
C. Repository Workspace
D. Process Specification 

Answer: A

NEW QUESTION 54
An administrator is evaluating different templates and needs to select one for use on a new project area. Which of the following is the first consideration?

A. The team area to release relationship.
B. The number of teams in the project area.
C. The development process of the software team.
D. The geographical distribution of team member

Answer: D

NEW QUESTION 55
A user loaded a repository workspace that flows with the team's stream. The user can see an incoming change for the file CoreClass in the RTC client, but decides
to edit this file and check in the change.
How does the Jazz SCM handle this situation?

A. A potential conflict is detected and the user is prevented from checking in the file CoreClass that already has an incoming change.
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B. The conflict for the file CoreClass is detected in the incoming and outgoing change sets and the changes are automatically merged for the user.
C. A conflict between the incoming and outgoing change sets for the file CoreClass is detected and the conflict is shown in the pending changes view.
D. The incoming changes for the file CoreClass are detected and the file is automatically set to read-only, preventing the user from accidentally editing it.

Answer: D

NEW QUESTION 56
A user notices that work items in the release backlog are initially unordered. What must be done to update the ordering?

A. Move each work item to appropriate swimlane.
B. Set rank for each work item using drag and drop.
C. Set priority for each work item and click Reorder.
D. Promote or demote each work item using action men

Answer: C

NEW QUESTION 58
What is an advantage of the RTC web client over the RTC Eclipse client when dealing with work items?

A. Work items can only be created in the RTC web client.
B. The RTC Eclipse client requires an extra license for access.
C. Work item approval states can only be set in the RTC web client.
D. The RTC web client does not require installing any additional client softwar

Answer: B

NEW QUESTION 62
A manager wants to know how long work items are staying in the In Progress state. Which type of trend report will show this?

A. Work Item Aging
B. Work Item Closure
C. Work Item Creation
D. Work Item Turnaround 

Answer: A

NEW QUESTION 66
A development team would like to apply tighter governance of code towards the end of its release How is this implemented? (Choose two.)

A. Restrict deliveries based on role.
B. Restrict deliveries based on access group.
C. Require read only attributes on work items.
D. Require change sets to be approved before delivery.
E. Restrict check-in to the developer repository workspac

Answer: DE

NEW QUESTION 69
A development team is using the RTC web interface to update plans and work items. One user notices that recent work item changes are not rendered in the web
browser.
What is the reason for this?

A. The web browser is caching the work items.
B. The data warehouse has not yet been updated.
C. The web browser version is no longer supported.
D. User does not have permission to view the work ite

Answer: A

NEW QUESTION 70
A project manager wants to create an effective project dashboard and is planning the content. Which points should be considered? (Choose three.)

A. Determine the goals for the dashboard.
B. Consider creating a project plan dashboard.
C. Determine how the dashboard addresses the goals.
D. Consider the layout and number of columns for the dashboard.
E. Determine whether to use a personal, project or team dashboard.
F. Choose reports to add to the dashboard that will display the appropriate metric

Answer: BEF

NEW QUESTION 74
A user wants a query to filter work items in the closed group of a workflow. Which option in the query condition allows this?

A. Resolved
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B. Unassigned
C. Unresolved
D. Current Iteration 

Answer: C

NEW QUESTION 76
Which RTC client allows a user to lock and download a source file in a single operation?

A. Web client
B. Eclipse client
C. Explorer Shell
D. ClearCase bridge 

Answer: A

NEW QUESTION 78
A scrum master wants to determine if the team has enough time to complete the work planned for an iteration. What is used to assess this?

A. Plan's Task Board View
B. Ranked List of work items
C. Load Bar in the Plan Details
D. Traceability View sorted by Estimate 

Answer: B

NEW QUESTION 79
A project has both new development and maintenance work, each with their own schedule. The scrum master has organized the project area into development
and maintenance team areas. The scrum master wants to keep the work effort and planning for both teams separate.
Which of the below can be defined to facilitate this?

A. Cross-project plans for both teams.
B. A timeline and iteration for each team.
C. Sprint plans that match the team areas and categories.
D. Divide the release backlog into corresponding team ownershi

Answer: D

NEW QUESTION 83
A project manager asks the administrator to restrict user access to the project area to only people on the project. Where would the administrator go in order to
modify this?

A. Access Groups
B. Operational Behaviors
C. Team Area Permissions
D. Project Area Access Control 

Answer: B

NEW QUESTION 88
A development has organized the source code into components and found that there is a strong dependency or containment relationship between two of the
components.
What action could the development team take to establish this relationship?

A. Take a baseline of both components.
B. Update both component's Properties view.
C. Utilize a work item to link both components.
D. Create the Child component as a subcomponent of the paren

Answer: B

NEW QUESTION 89
A developer is working on a task with outgoing change sets in a loaded repository workspace when a manager identifies a new, critical task that must be
performed immediately. There are currently no unresolved changes.
Without creating another repository workspace, how can the developer safely work on the critical task without losing the pending changes of the initial task?

A. The user suspends the current change sets and starts working in a new change set.
B. The user reloads the repository workspace and starts working in a new change set
C. The user creates a new change set, selects it as the current change set and checks in all changes.
D. The user loads the repository workspace in a different client and starts working in a new change se

Answer: B

NEW QUESTION 93
......
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